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BifE B - 5105403 268 -5 ¥A9VART W7H37° R4¥la-R
B 43z E 4 OUT | IN | GR | HDCP | NET e
& A =B 43 | 46 | 89 18.0 |71.0
#E FE EE 39 | 43| 82 110.0 |72.0
3 A/ —F 38| 42 | 80 | 6.0 |74.0
4 (&N B 36 | 43 | 79 | 3.0 |76.0
5 |TH #ifE 39 | 43| 82 | 5.0 |77.0
6 |HEF BRI 37| 47 | 84| 7.0 |77.0
1 &FE XRH 44 | 45 | 89 110.0 |79.0
8 |l {E7F] 44 | 48 | 92 112.0 |80.0
9 |BEAR HRA 51 | 55 | 106 |26.0 |80.0
10 B8 fEx 52 | 39 | 91 /10.0 |81.0
11 LA 1EE 44 | 43 | 87 | 4.0 |83.0
12 lUiR —%& 58 | 55 | 113 129.0 | 84.0
13 R FE 47 | 48 | 95 110.0 |85.0
14 \B5H BEZEB 49 | 49 | 98 112.0 |86.0
15 =48 2B 56 | 51 | 107 121.0 |86.0
16 k2K FEH 54 | 54 108 121.0 |87.0
17 Bi [EH 49 | 52 101 /13.0 |88.0
18 | EH RF 53 | 52 105 | 14.0 |91.0
19 A 2= 54 | 48 [ 102 [10.0 |92.0
20 Rk #§ 53 | 49 [ 102 110.0 |92.0
21 |Epith 5B 52 | 47 | 99 | 5.0 |94.0
22 |\ EE 57 | 53 110 | 11.0 | 99.0
23 | EXR fBH 49 | 57 | 106 | 5.0 |101.0
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NE AL K £ ouT | IN GR | HDCP | NET =

BE EB =8 38 36 | 74 |11.0 [63.0

#E | KE HH 41 0 38 | 719 | 5.0 | 74.0
3 |BElR e 94 | 48 1102 [27.0 |75.0
4 E EBE 39 40 79| 3.0 /76.0
5 KH Af 42 ' 43 | 8 | 9.0 | 76.0
6 O Es 48 | 46 | 94 [18.0 | 76.0
7 'HHE #ht 44 1 47 | 91 [14.0 | 71.0
8 ||l E#H 43 | 48 | 91 [14.0 |71.0
9 |BEA ERF 47 | 47 | 94 |16.0 | 78.0
10 |Gregory Rouault 47 | 52 | 99 |21.0 |78.0
1 JIE Flz 39 0 39| 78 [+1.0 | 79.0
12 | &5F #8E 47 | 41 | 88 | 9.0 | 79.0
13 |#e BE 49 | 40 | 89 [10.0 | 79.0
14 B3 ¥ 44 | 45 | 89 | 9.0 80.0
15 |AH & 59 | 46 | 105 [24.0 81.0
16 | RE BE 40 43 | 83 | 1.0 |182.0
17 |fElE  #83% 48 | 53 | 101 [19.0 82.0
18 BB 1% 46 | 57 | 103 [21.0 /82.0
19 /hgE  1EFE 43 | 50 | 93 [10.0 |83.0
20 KH ## 46 46 | 92 | 8.0 184.0
21 B KRKER 41 1 49 | 90 | 5.0 |85.0
22 |1 Bm= 46 | 45 | 91 | 6.0 [85.0
23 MLt EA 92 | 42 | 94 | 9.0 |85.0
24 fE”RK =F 49 | 45 | 94 | 6.0 88.0
25 |thEH IFX 48 | 48 | 96 | 8.0 88.0
26 |[[R —3&F 48 | 58 | 106 [18.0 |88.0
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